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* # this code is adding two integers
* #2100/5/6 by Joseph

ol2f T2 0|R0{T 4 EH
"”’ this code is adding two integers

2100/5/6 by Joseph
2100/10/22 updated by John
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 float(variable name)
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* Input() == AE5H0 <XI= YU 2HOLOF 2 If
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22> owar = input{"E A0 EHH I H =)
A0 B A= =7 1993
FEFONMAD
' 1998"°
Fxx oage = 2017 - war
Traceback (most recent call last):
File "“pyshel [#34>", |line 1, in <module>

age = 2017 - war
TwpeError: unsupported operand twvpe(s) for -0 'int' and
»xx gge = 2017 — int(wvar)
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My name is Esther, and 19-years old.
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name = 'Esther’
age = 19

print('My name is ', name, ', and’, age, 'years old.")
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My name is mattie, and 25-years old
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# get name and age from user, and print them

name = input('Enter your name ; ')
age = input('Enter your age ; ')

print('My name is ', name, ', and', age, 'years old.")
print(‘'My name is ¥"', name, 'W".")
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affiliation = str('2t&LH

year = 2015’

50"

)

print("Lt=", year, "H 0", affiliation, "Of
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numberl = float(input('X HM A 2 H: )
number2 = float(input('Ss B 2 =)

print(hnumberl + number2)
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number = int(input( 3=

print("*' * number)

.
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